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It is evident that there is Koifer by Regel — %372 9510 ROOK NMON

OVERVIEW
The X773 concludes that there is a 7913 payment if an animal killed a person
through 237. Our MooIn reconciles our X3 with a seemingly contradictory X3,

Mmoo anticipates a difficulty:
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And this which X291 2R argue in 7wWnm V29K 7AW W PID -
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Regarding a %31 of an animal which trod on a baby in the i 231, where
according to 829 he does not pay 9213, and here the X3 concludes that 737 pays 913!

mooIn responds:
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N21 is discussing the rule of 791> according to that Xin of the Xn>73, but it does

not mean that X219 agrees to that; x17 can maintain the %372 9913 v as the X3 concludes
here.

SUMMARY
There is a Xin who can maintain 5312 1912 PX; however our X3 as well as X2
maintain 7372 7910 v°.

THINKING IT OVER

If the 719577 is that 2372 7910 @ (as the X3 concludes here), why does X217 choose to
interpret that Xin (of 7¥°27) so he maintains 2312 9915 X, when he had the option of
interpreting that Xin the way X does, so that the Xi1n will also maintain 991> w»
%372 as the 719977 is?!

" The X1 there on 2,» cites a Xn»72 which states that there is 1213 by 177, but there is no 7912 payment by 7y°21
(bestiality). ax explains the reason there is no 991> by 7¥°27 because the animal did not kill the person (¥"»v),
however X271 explains the Xn>"2 that there is no 1913 by 7¥°27 even if the animal kills the person through 71337 since
it is P°17%2 1D X (but rather 1107 MY NRIT2). The 83 concludes that X271 »2X argue whether 11077 Y 7077w a0
P13 9¥n2 is 7910 21 (the view of *"aR), or not (the view of X17). It appears that X271 argues with our X3, and the
79917 is always like X211 against *ax; is our Xn2?70 K7W X932

% X211 maintains that the Xin of that Xn*"2 is of the opinion that %3712 9912 TX.

3 See "Xn2a 7"7 RANA2 R,XN 7T 7.
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